

August 17, 2022

VIA RESS

Ontario Energy Board P.O. Box 2319 2300 Yonge Street, 27th Floor Toronto, ON M4P 1E4 Attention: Registrar

Dear Ms. Marconi,

Re: Ontario Energy Board

Proposed Amendments to the Distribution System Code (DSC) to Facilitate

Connection of Distributed Energy Resources

Board File No.: EB-2021-0117

We are counsel to Anwaatin Inc. ("Anwaatin") in the above-noted consultation (the "Consultation"). Further to the Board's Notice of Hearing for Cost Awards dated August 10, 2022, please find enclosed Anwaatin's cost claim in respect of the Consultation.

Anwaatin respectfully requests an award of 100% of its eligible costs, given its strategic and principled participation in the Consultation, reflecting the unique interests of Anwaatin's First Nation members. Anwaatin submits that this request is supported by the following considerations:

- (i) Anwaatin participated effectively, taking a surgical, principled, and coordinated approach to the issues and undertaking coordination with other participants to avoid overlap and maximize efficiency in all aspects of the Consultation;
- (ii) Anwaatin participated responsibly and made reasonable efforts to ensure that its participation was not unduly repetitive and was focused on relevant and material issues; and
- (iii) Anwaatin contributed to the Board's better understanding of issues in the Consultation by filing written comments.

We trust that this approach maximizes efficient use of resources and the right of otherwise unrepresented and important First Nations to be heard in a manner that is consistent with the Board's mandate and statutory objectives.

Anwaatin respectfully requests a full award of eligible costs.

Sincerely,

DT Vollmer

c. Larry Sault, Anwaatin Inc.
Don Richardson

Encl.

EB-2021-0117: 1: Monika Pecnikova

SUBMISSION DEADLINE DATE **CLAIM STATUS COST CLAIM NUMBER** August 17, 2022 Approved by Finance 595

EB# OTHER EB#S PHASE #*

EB-2021-0117: Initiatives: Rules, Codes and

Guidelines: Ontario Energy Board

INTERVENOR COMPANY*

INTERVENOR TYPE Anwaatin Inc., Hagersville: Pecnikova, Monika; +1 (647) 971-6771 Corporation Full Registrant monika@resilientllp.com

HST RATE ONTARIO **EXCHANGE RATE** COUNTRY 13.00

Canada

LATE SUBMISSION ALLOWED EXTENSION DEADLINE DATE HST NUMBER

78515 4923 RT0001

PARTICIPANTS

INTERVENOR

New	Non-Filing Participant First, Last Name	Filing Participant	Total (\$)	Participant Claim Status
No	,	DeMarco, Lisa (Elisabeth) ; +1 (647) 991-1190 lisa@resilientllp.com	857.67	Submitted
No	,	McGillivray, Jonathan; +1 (647) 208-2677 jonathan@resilientllp.com	307.36	Submitted
No	,	Richardson, Don; +1 (226) 820-5086 drichardson.gll@gmail.com	484.77	Submitted
No	1	Vollmer, Daniel; +1 (647) 993-6338 daniel@resilientllp.com	1,479.17	Submitted

ATTACHMENTS

Anwaatin_CVR LTR_DER DSC Amendments 20220817.pdf	Cover	
Amondments 20220817 ndf		
Amendments_20220017.pdf	Letter	
ANWAA EB-2021-0117 Cost Claim 081720221223.pdf		

TOTAL LEGAL/CONSULTANT/OTHER FEES TOTAL HST TOTAL DISBURSEMENTS 2,769.00 0.00 359.97

TOTAL CLAIM TOTAL AMOUNT AWARDED

3.128.97

REASON FOR REASON FOR REASON FOR DISALLOWANCE **DISALLOWANCE - 2 DISALLOWANCE - 3**

MAKE CHEQUE PAYABLE TO

Resilient LLP

SEND PAYMENT TO ADDRESS ATTENTION

333 Bay Street, Suite 625

Toronto, ON M5H 2R2

SUBMIT SECTION

I am a representative of the Party. I have examined all of the documentation in support of this cost claim. The costs incurred and time spent are directly related to the Party's participation in the OEB Process referred to above.

This cost claim does not include any costs for work done, or time spent, by a person that is an employee or officer of the Party as described in section 6.05 and 6.09 of the OEB's Practice Direction on Cost Awards.

The information (fees and disbursements) filed in this cost claim is complete and accurate and in accordance with the OEB's Practice Direction for Cost Awards and Appendix A, the Cost Awards Tariff.

SUBMITTED BY DATE SUBMITTED Daniel Vollmer August 17, 2022

Lisa (Elisabeth) DeMarco

CASE **COST CLAIM**

EB-2021-0117: Initiatives: Rules, EB-2021-0117: 1: Monika

Codes and Guidelines: Ontario Pecnikova

Energy Board

INTERVENOR NAME

Pecnikova, Monika; +1 (647) 971-6771 monika@resilientllp.com

PARTICIPANT CLAIM STATUS

Submitted

NON-FILING

FILING PARTICIPANT

DeMarco, Lisa (Elisabeth); +1 (647) 991-1190

lisa@resilientllp.com

NEW **PARTICIPANT**

No

NON-FILING PARTICIPANT F. NAME

PARTICIPANT L. NAME

SERVICE PROVIDER TYPE

YEAR CALLED TO BAR 1997

COMPLETED YEARS PRACTICING/YEARS OF **HOURLY RATE** 330

RELEVANT EXPERIENCE

DISBURSEMENTS

25

CV STATUS (FOR

Legal Counsel

CONSULTANT/ANALYST) CV Provided within Previous 24

Months

No

LAST CV DATE February 23, 2022 **CHARGED**

13.00

HST RATE

HEARINGS

CONSULTATIONS

Yes

No

<u>Description</u>	Maximum Hou	<u>ırs</u>	Hourly Rate	<u>Sub</u> Total	<u>HST</u> Rate	<u>HST</u>	<u>Total</u>
Consultation Comments - August 5, 2021 Consultation Total	10.00	2.30	330	759.0	00 13.00	98.67	857.67
Total Legal/Consultant Fees				759.0	00	98.67	857.67

Attachments

Attachment Document Type Import Message

Lisa DeMarco_TimeDockets_Anwaatin_EB-2021Time Docket

0117.pdf

<u>Attachment</u>

Related Disbursement Claim

Lisa DeMarco_TimeDock ets_Anwaatin_EB-20 21-0117.pdf **Document**

Type Claim Type Import Message

Time Docket Consultations

Type Date Hours Description Rate (\$
Time entry 2021.09.15 2.3 Communications with client on DSC amandments and instructions to J. McGillivray and D. Vollmer on draft submission; 330

Bill number \$759.00 L. DeMarco 21200

Jonathan McGillivray

CASE COST CLAIM

EB-2021-0117: Initiatives: Rules, EB-2021-0117: 1: Monika

Codes and Guidelines: Ontario Pecnikova

Energy Board

INTERVENOR NAME

Pecnikova, Monika; +1 (647) 971-6771 monika@resilientllp.com **PARTICIPANT CLAIM STATUS**

Submitted

NEW NON-FILING FILING PARTICIPANT

No

McGillivray, Jonathan; +1 (647) 208-2677

jonathan@resilientllp.com

PARTICIPANT

PARTICIPANT F. NAME

NON-FILING

PARTICIPANT L. NAME

SERVICE PROVIDER TYPE YEAR CALLED TO BAR **COMPLETED YEARS HOURLY RATE**

Legal Counsel 2017 PRACTICING/YEARS OF 170

RELEVANT EXPERIENCE

5

CV STATUS (FOR **HST RATE** CONSULTANT/ANALYST) **LAST CV DATE CHARGED** 13.00

CV Provided within Previous 24 February 24, 2022 Months

HEARINGS CONSULTATIONS DISBURSEMENTS

Yes Yes No

CONSULTATION

<u>Description</u>	Maximum Hours	<u>ours</u>	Hourly Rate	<u>Sub</u> <u>Total</u>	HST Rate	<u>HST</u>	<u>Total</u>
Comments - December 20, 2021	5.00	1.60	170	272.0	00 13.00	35.36	307.36
Consultation Total Total Legal/Consultant Fees				272.0	00	35.36	307.36

Attachments

Attachment Document Type Import Message

Jonathan Time Docket

McGillivray_TimeDockets_Anwaatin_EB-202

1-0117.pdf

DISBURSEMENTS

	<u> Atchmnt</u>	<u>Atchmnt</u>	<u>Qty</u>	Cost/	<u>Net</u>	<u>HST</u>	<u>Other</u>		<u>Rationale/</u>
Name	Required	Provided		Unit	Cost	Rate	HST Taxes/Tip	Total	Comment

Related Disbursement Claim

Attachment
Jonathan
McGillivray_TimeDo
ckets_Anwaatin_EB2021-0117.pdf

Document

Type Claim Type Import Message

Time Docke Consultations

Type	Date	Hours Description	Rate (\$) Billable (\$) User
Time entry	2021.12.20	0.8 Review revised proposed amendments and communications with client re same;	170 \$136.00 J. McGillivray
Time entry	2022.01.20	0.4 Instructions to D. Vollmer re comments;	170 \$ 68.00 J. McGillivray
Time entry	2022.01.21	0.4 Review and revise comments;	170 \$ 68.00 J. McGillivray
Total		1.6	

Bill number

Don Richardson

CASE **COST CLAIM**

EB-2021-0117: Initiatives: Rules, EB-2021-0117: 1: Monika

Codes and Guidelines: Ontario Pecnikova

Energy Board

Months

No

INTERVENOR NAME

Pecnikova, Monika; +1 (647) 971-6771 monika@resilientllp.com **PARTICIPANT CLAIM STATUS**

Submitted

NEW **NON-FILING FILING PARTICIPANT**

No

Richardson, Don; +1 (226) 820-5086

drichardson.gll@gmail.com

PARTICIPANT

PARTICIPANT F. NAME

NON-FILING

PARTICIPANT L. NAME

SERVICE PROVIDER TYPE YEAR CALLED TO BAR **COMPLETED YEARS HOURLY RATE**

Consultant

PRACTICING/YEARS OF **RELEVANT EXPERIENCE**

24

330

CV STATUS (FOR

CONSULTANT/ANALYST) LAST CV DATE CV Provided within Previous 24 February 24, 2022 **HST RATE CHARGED** 13.00

HEARINGS CONSULTATIONS DISBURSEMENTS

Yes No

CONSUL	_TATION							
<u>1</u>	<u>Description</u>	Maximum Ho Hours	<u>ours</u>	Hourly Rate	<u>Sub</u> Total	HST Rate	<u>HST</u>	<u>Total</u>
Consultation	n Comments - August 5, 2021	10.00	0.50	330	165.0	00 13.00	21.45	186.45
Consultation	Comments - December 20, 2021	5.00	0.80	330	264.0	00 13.00	34.32	298.32
Consultation	Total Legal/Consultant Fees				429.0	00	55.77	484.77

Attachments

Attachment Document Type Import Message

Don Richardson Invoice 117.pdf

Richardson TimeDockets Anwaatin EB-202

1-0117.pdf

Invoice Time Docket

Attachment

Related Disbursement Claim

Don Richardson Invoice 117.pdf Don Richardson_TimeDo ckets_Anwaatin_EB-2021-0117.pdf **Document**

Type Claim Type Invoice Consultations

Time Docket Consultations

Import Message

Type	Date	Hours	Description	Rate (\$	Billable (\$)	User	Bill number
Time entry	2021.09.15	0.5	Communications with counsel re DSC amandments:	330	\$165.00	D. Richardson	117
Time entry	2021.12.20	0.3	Communications with counsel re proposed amendment;	330	\$99.00	D. Richardson	117
Time entry	2022.01.11	0.5	Meeting with counsel re draft comments;	330	\$165.00	D. Richardson	117
		1.3				-	

Mr. Don Richardson

Invoice # 117

Date: August 15, 2022

Bill To

Resilient LLP 333 Bay Street, Suite 625 Toronto ON M5H 2R2 647.971.6771

EB-2021-0117: DER DSC Amendments

Item Description	Amount
Sept. 15, 2021 0.5H - Communications with counsel re DSC amendments;	\$165.00
Dec. 20, 2021 0.3H - Communications with counsel re proposed amendments;	\$99.00
Jan. 11, 2022 0.5H - Meeting with counsel re draft comments;	\$165.00

Subtotal \$429.00

Tax Rate 13.00%

Other Costs

Total Cost \$484.77

Make all checks payable to Mr. Don Richardson

Thank you for your business!

Daniel Vollmer

CASE **COST CLAIM**

EB-2021-0117: Initiatives: Rules, EB-2021-0117: 1: Monika

Codes and Guidelines: Ontario Pecnikova

Energy Board

INTERVENOR NAME

Pecnikova, Monika; +1 (647) 971-6771 monika@resilientllp.com **PARTICIPANT**

CLAIM STATUS

Submitted

NEW **NON-FILING NON-FILING FILING PARTICIPANT**

No

Vollmer, Daniel; +1 (647) 993-6338

daniel@resilientllp.com

PARTICIPANT

PARTICIPANT F. NAME

PARTICIPANT L. NAME

SERVICE PROVIDER TYPE YEAR CALLED TO BAR **COMPLETED YEARS HOURLY RATE** Legal Counsel 170

2020 PRACTICING/YEARS OF

RELEVANT EXPERIENCE

CV STATUS (FOR HST RATE CONSULTANT/ANALYST) **LAST CV DATE CHARGED** CV Provided within Previous 24 February 23, 2022 13.00

Months **HEARINGS CONSULTATIONS DISBURSEMENTS**

No Yes No

CONSULTATION

<u>Description</u>	Maximum Hou Hours	<u>ırs</u>	Hourly Rate	<u>Sub</u> Total	HST Rate	<u>HST</u>	<u>Total</u>	
Consultation Comments - August 5, 2021	10.00	5.10	170	867.0	0 13.00	112.71	979.71	
Comments - December 20, 2021 Consultation Total	5.00	2.60	170	442.0	13.00	57.46	499.46	
Total Legal/Consultant Fees				1.309.0)	170.17	1,479.17	

Time Docket

Attachments

Attachment Document Type Import Message

Daniel Vollmer_TimeDockets_Anwaatin_EB-2021-0

117.pdf

<u>Attachment</u>

Related Disbursement Claim

Daniel
Vollmer_TimeDocket
s_Anwaatin_EB-202
1-0117.pdf

Document

Type Claim Type

Time Docke Consultations

Import Message

Туре	Date	Hours Description	Rate (\$)	Billable (\$)	User	Bill number
Time entry	2021.09.15	4.1 Prepare draft comments;	170	\$ 697.00	D. Vollmer	21200
Time entry	2021.09.17	1 Prepare draft comments;	170	\$ 170.00	D. Vollmer	21200
Time entry	2022.01.18	0.2 Prepare submissions;	170	\$ 34.00	D. Vollmer	22139
Time entry	2022.01.20	1.8 Review amendments and prepare submissions;	170	\$ 306.00	D. Vollmer	22139
Time entry	2022.01.21	0.6 Prepare comments	170	\$ 102.00	D. Vollmer	22139
Total		7.7				